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i = 3. ¥ #ic (Planck constant) h=6.626 x 10 *" erg - s molecule '
A e ¥#cky=138%x10"erg deg ' molecule™
% % % #c (gas constant) R =8.314 JK ' mol ™'
=1.987 cal K™' mol ™
TFHFE m=9.1091 x 10 g
1A=10"m=10"cm
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-~ RHF AR (reverse Carnot cycle) # > 100 cal eric £ » & 200 K 8 £ » i1
300K #1455 w F T 7R (&5 364X 184)
PRV i (system) s > 2E B @ (total entropy ) AS.(cal/K)? i 2|7t £

BETEpRTL?

O K #H48 & (system) st 50 cal » 28 AS(cal/K) ? & 2|47 F 2% € § A%
4 Q

R 88 % (system) #rt 100 cal > 355 ASi(cal/K)? & )%t & AT € p X
AN

% 25C» pH=>5 » E#k (sucrose) &7 (inversion) » fi5 » # # #ic % # (constant
half-life) 5 500 min(t;;, =500min) > A4 TuE BT > L pH=4pF > H ¥ #K2L %

B (typ) 5 S0min» K ET 7k F 2 &

d(s%troyc) —k x (sucrose)* [H*] doodndkcacb i 502 (124)

R = dlesten) _y (ester) (HCI)

A25C » # k=01 M'h's gt iz % & & (back reaction) > ¥ dz4sik B
lester],=0.02M - fgit & HCI » H 3k & [HCl[,=0.01M » ¢ — £ ester % & -kfz -+ 2
SO ? (124)
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e~z BELEFLT L, H B3 2H > 23 = B S 2P, 0 2P, 2P0 UM EE S =
BiF 5 3 2 eigenfunction > FF: (= 464 > = 18 &)
eL%2p,=2 L[,2P,=2 H2P,=?
OL?2P, =2 L,2P,=? H2P=?
E.)l:ZZPl: ‘? £22P1: Q I_AI 2P1: Q
I RFAZRZBRESHES B3 HM=-EA w5 a'bocrB2Pa=5Ab=3A"
c=6A>32*5% 34 % - i (lowest- lying excited state) B*w f f& (ground state) -
kS g (frequency) & @ 2 (15 4 )

2N E(=2 B A HELE zZzZ BV i it si®? (104)

S FMERTAn=20 (B BEE Ny) 0@ An=1ard (23 Blc: N))
FETAZFRRZN)/N =2 (F 354 2 154)
)& 25C
(5) 7= 1000 K
(27 10000 K



